V=10 m? Mosaz: m; =70 g = 0,07 kg

AT=5°C c: =386 J.kgt.K*
C=4200J.kg" T,=?K
P(H,0) = 10° kg.m" Voda: m,=400g=0,4 kg
m ¢, = 4200 J.kg*.K*
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Q = cpVAT T, <T <T,
Qprijaté = Qodovzdans
Q=0

cymy(Ty —T) = c;my(T — Ty)

c,m,(T —T.
lez 2( 2)+T

1My
Olej: m;=35kg Platina:m; =0,1 kg
¢, = 1680 J.kg™.K* ¢, =134 J.kg K™
T,=303K T;=7K

Mosaz: m,=0,2 kg
¢, =386 J.kg™.K*
T,=283K

Ocel: m,=7?kg
¢, = 460 J.kg*.K*

15 = 1073 K Voda: msy=1kg
— : 3 -

T=331K Cs = 4200 J.kg LK
T,<T<T, T;=283K
Qprijaté = Qodovzdana T=287K
Q1 =0Q;
ey (T = Ty) = cmy (T, = T) golTosh
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(T =T) comy (T — T3) + cgmz(T — Ts) = ¢ymy (Ty — T)

_cmy(T —T) + csma(T — T3)
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